
Čtvrtek 08. srpna 2019
1. turnus 2019

Body úterý

Schimmelová Eliška 6166 100 10 20 40 80 150 30 60 50 50 90 80

Popelka Martin 10 20 40 80 150 0 80 30 50 30 50 30 50

Vitouš Dominik 4992 30 15 1 50 60 50 30 90

Hekš Prokop 0 20 10 50 90 50 60 90

Stupková Ella 6140 100 10 20 40 80 150 30 60 50 50 90 60

Čunátová Nela 100 20 40 80 150 30 145 10 50 50 60 90

Grušpierová Eliška 4829 40 0 10 30 50 120 40 60 80

Petráčková Adéla 100 150 0 115 0 50 30 50 0 50

Pětioký Vojtěch 5999 100 10 20 40 80 150 30 60 50 50 60 120

Bubla Jan 100 10 20 40 80 30 30 10 50 50 30 50

Vince Michal 7138 100 10 20 40 80 150 30 35 10 50 60 50 60 110

Janele Adam 100 10 20 40 80 150 30 30 10 50 60 50 60 50

Matějková Ivana 6180  10 20 40 80 150 30 60 50 50 60 50

Stefanovský Pavel 100 10 20 40 80 150 30 60 50 50 60 110

Matějková Daniela 6546 10 20 40 80 150 30 60 50 50 60 70

Jónová Lenka 40 80 30 75 30 40 40 30 100

Myška Marek 6353 10 20 40 80 150 0 60 50 50 90 100

Bednářová Veronika 10 20 40 80 150 30 20 30 50 60 50 30 60

Krumlová Nela 6136 10 20 40 80 150 30 70 5 50 30 50 60 50

Kříž Matěj 10 80 150 30 60 50 50 90 130

Starý Max 5598 30 50 0 50 60 50 30 120

Stará Alžběta 100 10 40 80 150 30 35 35 50 60 30 50 30 50

Sentivanová Anna 4989 100 10 0 30 30 50 60 30 50 60 50

Knöchel Leoš 100 80 150 30 80 30 50 0 50 30 50 200

Votroubková Vanesa 4779 40 80 150 30 5 10 50 60 50 60 70

Králová Saša 40 80 150 30 5 10 50 60 50 60 70
13. 4779 5989 12.

11. 5598 6738 8.

12. 4989 6309 9.

9. 6353 7633 3.

10. 6136 7431 6.

7. 6180 7540 7.

8. 6546 7631 4.

5. 5999 7269 7.

6. 7138 8683 1.

3. 6140 7705 2.

4. 4829 5804 11.
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